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% 4.5

- REA T BT KB R

2t ISR 4 B | %9 % EK, Z5% o VK, =5 oV K; Z5 o Ky
(mbar) | g0 0 0 0
0(%) | K(cm/s) | 0(%) | K(cm/s) | Ky/K; | 0(%) | K(ecm/s) | Ky/Ki| 6(%) | K(cm/s) | Ky/K,
g
! 10 | 35.01* |3.97E-06%| 35.87 | 5.64E-06 | 1.42 | 41.17 | 5.63E-06 | 1.42 | 39.97 | 5.48E-06 | 1.38
30 32.68 | 1.09E-06 | 35.45 | 5.14E-06 | 472 | 40.17 | 4.81E-06 | 441 | 3638 | 3.05E-06 | 2.80
W 50 30.53 |8.54E-07 | 28.73 | 1.88E-06 | 220 | 33.69 | 2.11E-06 | 247 | 27.15 | 1.11E-06 | 1.30
100 | 1144 |248E-08| 11.09 | 1.44E-08 | 0.58 | 11.76 | 1.42E-08 | 0.57 | 11.76 | 1.93B-08 | 0.78
L300 6.62 |1.78E-08| 6.47 | 6.33E-12 |36E-4| 628 | 6.17B-12 |3.5E-4| 4.33 | 1.02E-11 |5.7E-4
BOEA B BEYREK B2 VK, Z8 o 35 K; Z 8o N Ky
(mbar) | 40 0 0 0
0(%) | K(cm/s) | 0(%) | K(ecm/s) | Ko/K; | 0(%) | K(em/s) | Ky/K;| 0(%) | K(cm/s) | Ky/K,
i 300 | 629 - 6.25 | 292E-12 | — 597 | LO9E-13 | — 3.7 | L39E-16 | —
100 | 648 |1.53E-08| 651 | 1.66E-10 | 0.01 | 6.19 | 599E-12 [39E-4| 4.12 | 4.17E-14 |2.7E-6
W 50 6.76 | 1.69E-08 | 6.74 | 1.55E-09 | 0.09 | 638 | 4.36E-11 [26E-3| 4.68 | 7.26E-13 |4.3E-5
30 6.87* |1.83E-08*| 6.87 | 4.57E-094|0:25 | 6.60 | 2.76E-10 | 0.01 | 5.8 | 1.28E-11 |7.0E-4
S 10 6.97* |1.97E-08*| 6.95 |<1.03E-08 | 0.52 | 697 | 3.42E-09 | 0.17 | 1028 | 1.49E-09 | 0.08
R R ELE
%46 FHR- R4 T B2 TR KE"R
2t 2R 4 B | RS s K L VK, =5 o VK &8k~ 3Ky
(mbar) | 40 0 0 0
0(%) | K(cm/s) | 0(%) | K(cm/s) | Ko/K; | 0(%) | K(em/s) | Ky/K; | 0(%) | K(cm/s) | Kv/K,
J1
o 10 | 40.15% [227E-06%| 40.98 | 2.84E-06 | 1.25 | 46.81 | 2.22E-06 | 0.98 | 48.63 | 1.55E-06 | 0.68
30 38.26 | 5.20E-07 | 40.54 | 2.55E-06 | 4.90 | 41.39 | 8.95E-07 | 1.72 | 43.42 | 4.16E-07 | 0.80
W 50 36.11 | 4.17E-07 | 3439 | 9.74E-07 | 2.34 | 32.73 | 221E-07 | 053 | 39.25 | 1.67E-07 | 0.40
100 | 17.69 — 18.57 | 2.78E-08 | — 1973 | 9.46E-09 | — | 3092 | 2.14B-08 | —
300 | 11ss — 1022 | 1.62E-12 | — 11.06 | 2.02E-11 | — 20.5 | 3.29E-10 | —
B3R A B 25 % EK T8 o 3N Ky 5% o7V K; T8 o NKy
(mbar) 0 o o o
0(%) | K(cm/s) | 0(%) | K(cm/s) | K/K;i | 0(%) | K(cm/s) |Ky/Ki| 0(%) | K(cm/s) | Ky/K,
ik 300 | 10.29 — 1026 | 473E-12 | — 9.79 | 3.60E-13 | — | 1348 | 1.I7E-13 | —
100 | 1096 - 10.92 | 3.65E-10 | — 1028 | 5.82E-12 | — | 1447 | 541E-12 | —
W 50 1138 | 2.62E-08 | 11.45 | 3.01E-09 | 0.11 | 10.78 | 5.13E-11 |1.9E-3| 15.12 | 3.12E-11 |12E-3
3() | 11.65*% [2.88E-08*| 11.69 | 7.33E-09 | 025 | 11.17 | 2.00E-10 |6.9E-3| 15.78 | 1.32E-10 |4.6E-3
S 10 | 11.93* |3.14E-08*| 11.87 | 1.65E-08 | 053 | 11.86 | 1.59E-09 | 0.05 | 17.10 | 1.54E-09 | 0.05

FRPM R E
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% 4.7

- kSN KB R

L3R4 B | RS % EK Z5% o VK, =5 oV K; Z5 o Ky
(mbar) | oo | Keemis) | 0%) | K(emis) | KoKy | 0(%) | Kem/s) | KoK, | 0(%) | K(cm/s) | KK,
a4 10 3434 | 4.86E-06 | 34.49 | 524E-06 | 1.08 | 39.61 | 4.90E-06 | 1.00 | 39.97 | 5.48E-06 | 1.13
30 15.07 | 4.96E-07 | 1522 | 8.64E-08 | 0.17 | 897 | 1.72E-08 | 0.03 | 36.38 | 3.05E-06 | 6.15
i 50 12.56% |2.91E-07*| 9.05 | 6.57E-10 |2.3E-3| 4.67 | 6.07E-10 |2.1E-3| 26.12 | 6.81E-07 | 2.34
100 9.63 |5.06E-08 | 828 | 8.14E-11 [1.6E-3| 3.60 | 7.42E-11 |1.5E-3| 10.74 | 1.33E-08 | 0.26
= 300 891 | 1.59E-08 | 7.89 | 1.01E-11 |6.4E-4| 3.06 | 9.08E-12 |5.7E-4| 421 | 5.76E-12 |3.6E-4
B3R B B8P % EK Z5 o K, 5% o3 K; 58k w3 Ky
(mbar) | g5 | Kemss) | 6%) | Kemss) | KoKy | 0%) | Kiemis) | KoKi | 0(%) | K(emls) | KuK
® 300 8.16 — 8.05 | 6.08E-14 | — 2,62 | 3.22E-15 | — 3.7 2.67E-16 | —
100 8.30 | 1.36E-08 | 832 | I.17E-12 [8.6E-5| 292 | 1.09E-12 [8.0E-5| 4.12 | 7.99E-14 |5.8E-6
G 50 8.63 | 1.71E-08 | 859 | 9.68E-12 [5.7E-4| 331 | 2.06E-11 [1.2E-4| 4.68 | 1.39E-12 |8.1E-5
30 9.20% |2.74E-08*| 8.86 | 5.17E-ldy|L9E-3| 3.71 | 1.17B-10 |4.3E-3| 5.8 | 2.46E-11 |8.9E-4
= 10 9.94*% |3.77E-08*| 9.40 |J775E-10 | 0.02 ] 529 | 5.72B-09 | 0.15 | 9.72 | 1.90E-09 | 0.05
*E M FEZ B
4.8 R okHEEE KR
23R4 B | 2EE &K ZE e K, &8 VK ok Ky
(mbar) | g | Kiemss) | 6%) | Kiemss) | KoKy | 0(%) | K(emis) |KoKi | 6(%) | K(em/s) | KiK.
d 10 4170 | 1.98E-06 | 40.81 | 1.52E-06 | 0.77 | 43.07 | 9.11E-07 | 0.46 | 48.63 | 1.55E-06 | 0.78
30 34.13* |1.47E-06%| 32.66 | 3.14E-07 | 0.21 | 30.63 | 1.17E-07 | 0.08 | 43.42 | 4.16E-07 | 0.28
¥ 50 2922 | 5.96E-07 | 24.51 | 5.50E-08 | 0.09 | 21.92 | 1.98E-08 | 0.03 | 39.25 | 1.67E-07 | 0.28
100 14.78 | 8.29E-08 | 16.36 | 4.13E-09 | 0.05 | 1321 | 1.12E-09 | 0.01 | 30.92 | 2.14E-08 | 0.26
= 300 8.95 — 923 | 433E-11 | — 6.95 | 2.72E-11 | — 20.5 | 3.29E-10 | —
B3R | 389 % EK T8 o 3N Ky 5% o7V K; T8 o NKy
(mbar) | gy | Kiemss) | 0¢6) | Kemis) | Kok, | 0¢6) | Kemis) | KoKy | 0%) | K(emis) | KK,
i 300 6.74 — 6.67 | 3.55E-13 | — 370 | 121E-12 | — 1348 | 1.27E-13 | —
100 6.85 | 2.52E-08 | 691 | 7.17E-12 |2.8E-4| 4.47 1.12E-10 |4.4E-3| 1435 | 3.94E-12 |1.6E-4
& 50 7.16 | 3.14E-08 | 7.16 | 5.36E-11 |1.7E-3| 5.16 | 1.04E-09 | 0.03 | 15.12 | 3.38E-11 |1.1E-3
30 7.55% |3.28E-08*| 7.36 | 2.16E-10 |6.6E-3| 5.68 | 3.83E-09 | 0.12 | 1578 | 1.43E-10 |4.4E-3
= 10 7.95% |3.41E-08%| 7.71 | 2.07E-09 | 0.06 | 629 | 1.91E-08 | 056 | 17.1 | 1.67E-09 | 0.05
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% 4.9

- AHARKEN R

L3R4 B | RS % EK Z5% o VK, =5 oV K; Z5 o Ky
(mbar) | oo | Keemis) | 0%) | K(emis) | KoKy | 0(%) | Kem/s) | KoK, | 0(%) | K(cm/s) | KK,
a4 10 35.62* |5.76E-06%| 35.51 | 6.23E-06 | 1.08 | 4132 | 6.33E-06 | 1.10 | 39.97 | 5.99E-06 | 1.04
30 34.96* |2.89E-06%| 3532 | 5.14E-06 | 1.78 | 40.83 | 5.96E-06 | 2.06 | 36.38 | 3.34E-06 | 1.16
G 50 34.54 | 9.63E-07 | 33.62 | 4.62E-06 | 4.80 | 39.85 | 5.39E-06 | 5.60 | 28.17 | 1.03E-06 | 1.07
100 16.27 | 3.21E-08 | 16.23 | 1.05E-07 | 3.27 1045 | 1.10E-08 | 0.34 | 11.76 | 2.12E-08 | 0.66
= 300 9.31 - 9.05 | 1.43E-11 - 7.01 3.27E-11 - 433 | 1.02E-11 | —
B3R B B8P % EK Z5 o K, 5% o3 K; 58k w3 Ky
(mbar) | ooy | Kiemss) | 0%) | Kemis) | KoKi | 0¢%) | Kemis) | KoKi| 0(%) | K(emis) | KyK,
® 300 9.59 - 9.58 | 3.22E-11 - 6.73 | 2.68E-14 | — 3.7 2.06E-16 | —
100 10.37 | 2.01E-08 | 10.48 | 1.15E-09 | 0.06 | 7.18 | 2.97E-12 |15E-4| 4.12 | 6.19E-14 |3.1E-6
G 50 11.11 | 2.62E-08 | 11.01 | 5.58E-09 | 021 | 7.84 | 4.35E-11 |1.7E-3| 4.96 | 3.42E-12 |13E-4
30 11.24% [2.77E-08*| 11.23 | 1.12E-084f 040 | 8.90 | 557E-10 | 002 | 6.08 | 3.37E-11 |1.2E-3
= 10 11.37* [2.92E-08*| 11.3 [¢1:53E-08 | 0.52 | 10.74 | 9.61E-09 | 0.33 | 10.28 | 2.21E-09 | 0.08
*E M FEZ B
2410 2 - kA KB 'R
2t OISR 4 B | RS % EK ZE e K, &8 VK ok Ky
(mbar) 0(%) | K(em/s) | 0(%) | K(em/s) | KiKy | 0(%) | K(cm/s) | KoK | 0(%) | K(cm/s) | KK,
d 10 40.85* |3.11E-06%| 40.79 | 2.82E-06 | 0.91 | 45.61 | 2.78E-06 | 0.89 | 48.63 | 1.69E-06 | 0.54
30 39.55% [1.73E-06%| 39.55 | 1.63E-06 | 0.94 | 44.07 | 1.66E-06 | 0.96 | 44.47 | 591E-07 | 0.34
¥ 50 38.63 | 6.60E-07 | 37.89 | 1.06E-06 | 1.61 | 39.99 | 7.36E-07 | 1.11 | 39.25 | 1.84E-07 | 0.28
100 32.62 | 3.63E-07 | 31.26 | 2.21E-07 | 0.61 | 30.79 | 1.24E-07 | 0.34 | 31.96 | 3.24E-08 | 0.09
= 300 20.61 — 18.82 | 2.85E-09 | — 1649 | L.11E-09 | — | 21.23 | 627E-10 | —
BO|E A E| RS REK &g K, =5k o K Sk 3V Ky
(mbar) 0(%) | K(cm/s) | 0(%) | Kem/s) | KoKy | 0(%) | K(cm/s) | KoK, | 0(%) | K(cm/s) | KyK,
i 300 12.09 — 1192 | 3.98E-12 | — 9.60 | 591E-13 | — 1348 | 8.62E-14 | —
100 12.32 | 2.05E-08 | 12.37 | 1.27E-10 |6.2E-3| 10.55 | 1.63E-11 |7.9E-4| 14.47 | 3.97E-12 |1.9E-4
i 50 12.69 | 2.27E-08 | 12.68 | 6.93E-10 | 0.03 | 12.11 | 3.93E-10 | 0.02 | 15.12 | 2.29E-11 |1.0E-3
30 12.94% [2.29E-08*| 12.88 | 1.96E-09 | 0.09 | 13.49 | 2.18E-09 | 0.10 | 15.78 | 9.66E-11 |4.2E-3
= 10 13.18* [2.31E-08*| 13.13 | 9.07E-09 | 0.39 | 1540 | 1.59E-08 | 0.69 | 17.1 | 1.13E-09 | 0.05
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#4011 2 H- k4 7T 24008 KiE '
# 5ok %% %K 58 23 K, &k o VK, ok Ky
4| (%)
a0 /Ky 3K 1
\ K(cm/s) K(cm/s) Ky/K K(cm/s) Ky/K K(cm/s) Ky/K
it 35 3.93E-06 4.79E-06 1.22 2.50E-06 0.64 2.54E-06 0.65
25 4.82E-07 1.01E-06 2.10 5.93E-07 1.23 5.71E-07 1.18
= 15 2.77E-08 9.00E-08 3.25 5.73E-08 2.07 6.29E-08 2.27
MNEIBL PR E
%412 PRz R4 T 24500 KEWY R
#E g ,J( LU /%ﬁ rf‘éEI<1 ‘”5@ 2 J( ‘”5@ 2 J( “‘;‘_E‘ﬁ o ;T\“K4
5| (%)
2 K(cm/s) K(cm/s) Ky/K K(cm/s) K3/K, K(cm/s) K4/K,
it 40 2.16E-06 2.33E-06 1.08 7.32E-07 0.34 2.02E-07 0.09
30 1.54E-07 4.77E-07 3.10 1.35E-07 0.88 1.71E-08 0.11
90 - 4.65E-08 = 1.07E-08 — 2.68E-10 —
rMEBL PR E
% 413 3 - R¥EHEWN K B iR
# pop |BEFHRK | ERSTK g% 2K E5k 2 Ky
4| (%)
a0 K(cm/s) K(cm/s) Ky»/K, K(cm/s) Ky/K, K(cm/s) K4/K,
it 35 5.76E-06 5.82E-06 1.01 2.93E-06 0.51 2.54E-06 0.44
25 1.74E-06 1.13E-06 0.65 8.50E-07 0.49 5.71E-07 0.33
= 15 4.90E-07 8.03E-08 0.16 1.33E-07 0.27 6.29E-08 0.13
ANEBLIPNEZE
0414 2 - oRH®S KB R
Pl g |BERRK | g% k5 5% 2Ky
2| (%)
2 K(cm/s) K(cm/s) Ky/K, K(cm/s) K5/K, K(cm/s) K4/K,
& 40 1.87E-06 1.31E-06 0.70 5.61E-07 0.30 2.02E-07 0.11
30 7.36E-07 1.89E-07 0.26 1.06E-07 0.14 1.71E-08 0.02
= 20 2.69E-07 1.60E-08 0.06 1.20E-08 0.04 2.68E-10 9.9E-4
rMEBL PR E
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%0415 2 - KHASK B R

# 5ok %% F %K Z5 oK, Z5 o VK, T8 o7V Ky
4| (%)
2 K(cm/s) K(cm/s) Ky/K; K(cm/s) Ky/Ky K(cm/s) K4/K,
o 35 3.09E-06 5.68E-06 1.84 3.26E-06 1.06 | 2.78E-06 0.90
25 1.68E-07 1.12E-06 6.67 9.05E-07 539 | 6.25E-07 3.72
= 15 3.21E-08 6.31E-08 1.97 9.98E-08 311 | 6.88E-08 2.14
=R N A
% 416 2 - k¥AR=Z K B &
# sopw [BERHRK | 5% 22K 5 N NK 55 o N Ky
2| (%)
2 K(cm/s) K(cm/s) Ky/K K(cm/s) K3/K, K(cm/s) K4/K,
" 40 2.24E-06 1.89E-06 0.84 7.38E-07 0.33 | 221E-07 0.10
30 2.80E-07 1.63E-07 0.58 1.03E-07 0.37 1.87E-08 0.07
90 - 5.19E-09 = 5.65E-09 — | 2.94E-10 —
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